520 Munsell System Y,,=100,

X=96,79,Y,,=100,00Z,,=111,46

o Ve _ & — v=1
0.8 n_|C72, V=1,2,5,8&09, Mex X,=0,3140y,,=0,3243 =
| th — v
Guomaticity (x,y) A g=(ao-l0,1#0,4+20,]) V1ol Y10 /2 — V=5
WV — v=1 * 0= (o[, rtDo, a*bo,v]) Y15(Y/Y18) — V=8
= 89 = a0 [X/y]
- bo = bo [z
_ ay=1, byp=-0,4
EOR, n = Mex
Q625 =ap,(Y/Y1g-1 X
> 70 20,v=a N ) 0,016 —0,011
95¢,E b, y=by(Y/Y15-1) 0,014 -0,010
a,=-0,017,b,,=0,012 0,003 -0,002
ap,4=0,000,by A=0,000 -0,022 0,016
; CIE 1931 X Munsell System Y,,=100,
5 C=2, V=1, 2, 5, 8 & 9, Mex
0,0 0,2 04 0,6 0,8 1,0 chroma (A*g, B*g)
EE981-1A EE981-2A
Xw=96,79,Y,,=100,00Z,,=111,46 Xw=96,79,Y,,=100,00Z,,=111,46
Xy=0,3140y,,=0,3243 _— \\Z% X=0,3140y,,=0,3243 — xi;
*1:(31_[511,n+a1,A+a1,V])Y18(YN18)i;§ — V=5 A*2=(a2‘[az,n+az,A+az,v])Y1B(Y/Y18)ig — V=5
B*1=(by=[by rtby a*Dy v]) Y14(Y/Y19) — v=8 B*=(bp[b; it athy v]) Y18(Y/Y19) — V=8
ay = ago [x/Y] 8 =y [(x-0,171/y]
by =byo [z by =byg [2W]
ay0=1, byy=-04 ap0=1, byo= -0,4
mr1=1,000,br1=0,171 .
n = Mex n = Mex *
ay y=ap(Y/Y1g-1] X ap y=ap(Y/Y1g~1, ex
b”:bzy(YNm_lg 0,012 -0,007 bsz:bZVEY/Ym_lg 0,012 -0,007
1,v=02(Y/Y1g 0,011 -0,007 Y02, (Y/Y1g 0,011 -0,007
a=-0,013 b,,=0,008 0,002 -0,001] 2=—0,013,b,,=0,008 0,002 -0,001]
ay 5=0,000,b; x=0,000 -0,0170,010 a 4=0,000,b, 4=0,000 ~0,0170,010
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1, 2,5,8 &9, Mex C=2,V=1,2,5,8&9, Mex
chroma (A*4, B*;) chroma (A*,, B*,)
EE981-3A EE981-4A
Xy=96,79,Y,,=100,00 Z,=111,46 X=96,79,Y,,=100,00 Z,,=111,46
X=0,3140y,,=0,3243 — \\S X,=0,3140y,,=0,3243 - ﬁ%
A*5=(ag[ag it atag v]) Yig(Y/ Y19 13 — V=5 * 4=(ag~[aa,1+20 A+ v]) Yig(Y/Y19) 113 — V=5
B*3=(bg—[ba 1*b3 a+b3 v]) Y1 Y/V191/3 — v=8 * 4=(04~[bg +ba A*bs v Yae(Y/Y19) /3 — v=8
ag =2y [(x-0,17D/y] 84 =350 [(x-0,1721y]
b3 =byo [z b=bs0 [(Mpax+bp1)/Y]
ay0=1, byo=-04 ap0=1, byo= -0,4
my1=1,000,br7=0,171 mp1=-0,169 bp;=0,389 <
n = Mex n = Mex @
ag y=ag,(Y/Y1g-1 ex =ap(Y/Y1g-1, Mex
b3’Y:b2V(YN13_1; 0,012 -0,007, ?'Y:bZVEY/Ym_l; 0,012 -0,007
3,v=0a,(Y/Y1g 0,011 -0,007 4,y =D2(Y/Y15 0,011 -0,007
a2y=—0,013,b2y=0,008 0,002 -0,001 a2y=—0,013,b2y=0,008 0,002 -0,001,
ag 5=0,000,b3 x=0,000 -0,0170,010 a4 4=0,000,b; 4=0,000 ~0,0170,010
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1, 2,5,8 &9, Mex C=2,V=1,2,5,8 &9, Mex
chroma (A*3, B*3) chroma (A*4, B*y)
EE981-5A EE981-6A
Xy=96,79,Y,,=100,00 Z,=111,46 X=96,79,Y,,=100,00 Z,,=111,46
X=0,3140y,,=0,3243 — \\ﬁ% X,=0,3140y,,=0,3243 - ﬁ%
*5:(35'[as,n*‘as,A*as,v])Ym(Y/Yls)ig — V=5 *6=(a6—[ae,n+ae,A+ae,v1)Ym(wvlgig — V=5
*5=(D5~[bs, +bs A+bs v]) Y15(Y/Y1g) — v=8 B*g=(bg[Dg,ri+0g, a+bg, 1) Y18(Y/Y19) — V=8
ag=a,,((0,861x-0,719-0,026)}] 8 = apy [XIy]
bs=by,[(0,199+0,386/-0,240)4] bg=boy [(Mp1X+0p1)/y]
a,=1,00,b5,=1,00 p,=1,00,b,=-0,40
Ag,G,y,R=475,503,574,494C,E nm . mMp;=-0,974 bp;=0,658 B
n = Mex \ n = Mex - )
= Y/Y1g~1 ex = Y/Y1g~1 ex
3 y=a(VY1g1) 0,003 -0,002 B, y=2/YIY1571) 0,015 -0,005
b5,y =by(¥/Y15-1) 0,003 0,002 D6,v=bay(Y/Y14-1) 0,014 0,005
a,=-0,003 b,,=0,002 0,000 -0,000 ap,=-0,016,b,,~0,006 0,003 -0,001
a5 5=0,000,b5 x=0,000 0,005 0,003 a6,4=0,000,b5 4=0,000 ~0,0210,008

Munsell System Y,,=100,
C=2,V=1,2,5,8&9, Mex

chroma (A*g, B*g)

Munsell System Y,,=100,
C=2,V=1,2,5,8&9, Mex
chroma (A*g, B*g)

EE981-7A

EE981-8A

EE981-7N




